2,63-65,2002

ICP-MS
ICP - MS
- ICP-MS
ICP-MS (@)
059
19 ETHOS900
@
ICP-MS (
)
Time Power Temp
Step (min) (watt) ()
1 2:00 250 100
2 3:00 0 100
3 5:.00 250 100
ICP- 4 5:.00 400 100
5 5:.00 600 100
6 20:00 400 100
Totai Time 45:00 (VENT Time 5:.00
ICP-MS 1000
ETHOS900
10
ICP-MS 100 ml
059
ICP-MS ml 1ml

63



100

, 1
100 m
Co, Bi, Te
ICP-MS
0.5g9
/
ICP - MS
(b a/l)
AV ) AV SD
(ma/kq) 8cu 0.674 0.10 1.423 0.35
Fe 72000 7r 2.2 5cu | 0.686 0.09 1.426 0.36
Al 22000 B 1.1 7n 3.304 0.81 8.786 4.78
Mg 17000 Co 0.78 6671, 3.418 0.84 9.057 4.95
'\{'<” 3288 T_t.’ 8-22 Sps | 0.000 0.00 0.033 0.03
Na 1700 ul 0.66 ey 0.000 0.00 0.032 0.02
Ca 980 Cr 0.54 Weg | 0.000 0.00 2.061 2.92
Y 120 Be 0.46 pp | 0.095  0.04 | 4292  6.71
én gg é\lé 8-%2 28pp | 0.115 0.04 4.329 6.78
u . AV 6
Ba 34 Br 0.11 SD 6
Pb 17 Bi 0.11
TI 9.2 Aq 0.022
As 8.1 Pt 0.0032
\Y 5.2 Au 0.0020
In 5.2 Te nd
0.5¢9
Y, Tl, In ICP-MS 2
ICP-MS
1llcd
No.
(u a/h (ma/ka) (mg/kg)  (mg/kg) (%) (ng/kg)  (mg/kg) (%)
Scul ®co los 10 10 100 1 | 0.14 1.17 102 | 0.15 1.23 108
65 59 2 0.14 1.13 98 0.16 1.18 103
64CU SQCO 0.5 10 10 100 3 | 0.15 1.21 106 | 0.14 1.17 102
662” SQCO 0.5 10/ 10 100 4 | 0.15 1.13 98 | 0.20 1.17 102
752” SQCO 0.5 10 01 100 5 | 0.16 1.13 98 | 0.21 1.22 107
As Co |0.01 5 0.1 50 6 0.15 1.13 98 0.22 1.18 103
Wedl P1e |0.01 5/ 0.1 50 mean|0.15 1.15 100 | 0.18 1.19 104
Weql %T1e (001 5 0.1 50 SD | 0.0 0.0 3.3 | 0.0 0.0 2.6
ZOGPb zogBi 05 10 1 10 (iV 5.11 2/k9 3.3 19.5 2.2 2.5
Wpp | 2%gj g5 10| 1 10 . no/ks
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lllcd
Oy
Nl w9 | (w9 w9 O
1 41.7 224.1 90.3 | 43.9 228.3 92.4
2 44,9 231.8 94.2 | 42.0 232.2 94.4
3 43.4 227.9 92.2 | 44.1 2313 93.9
4 43.1 227.7 92.1 | 44.2 231.2 93.9
5 43.9 223.9 90.2 | 44.6 228.9 92.7
6 42.8 224.5 90.5 | 44.4 234.9 95.7
neen 43.4 226.7 91.6 | 44.4 231.1 93.8
D 1.1 3.1 1.5 1.0 2.4 1.2
o/ 2.5 1.4 1.7 2.2 1.0 1.3
W my/lg
7 ®m
Nl w9 | (w9 w9 @)
1 82.5 267.9 90.3 85.7 257.7 85.2
2 85.2 272.8 92.7 | 69.4 280.1 096.4
3 83.6 273.1 92.9 82.1 276.7 94.7
4 85.1 259.9 86.3 | 86.1 279.5 096.1
5 89.7 277.4 95.0 87.6 272.6 92.6
6 84.1 276.2 94.4 | 87.4 281.0 096.8
neen 85.0 271.2 91.9 83.1 274.6 93.6
D 2.5 6.5 3.2 7.0 8.8 4.4
o/ 2.9 2.4 3.5 8.4 3.2 4.7
a0 ny/lg
8 P
Nl g w9 | (w9 w9 O
1 8.19 26.07 89.9 | 8.48 25.24 85.7
2 7.79 25.87 88.9 | 7.48 25.90 89.0
3 8.33 26.87 93.9 | 8.45 25.99 89.5
4 8.15 25.22 85.6 | 8.86 25.32 86.1
5 8.34 26.33 91.2 | 8.74 25.48 86.9
6 7.82 26.16 90.3 | 8.69 24.63 82.7
neen 8.10 26.09 89.9 | 84.5 25.43 86.6
D 0.2 0.5 2.7 0.9 0.5 2.5
o/ 3.0 2.1 3.0 5.9 1.9 2.9
Dny/lg
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9 "

N o w9 6 | (w9 (g 6
1 16.6 36.4 98.7 | 15.8 36.1 97.2
2 17.7 36.3 98.4 | 15.7 35.8 95.7
3 16.8 38.8 111.0| 16.1 36.4 99.1
4 16.7 34.5 89.5| 15.4 359 96.3
5 16.7 36.5 99.6 | 16.9 35.9 96.5
6 16.5 36.4 98.9 | 15.9 35.7 95.2
nen 16.8 36.5 99.3 | 16.0 35.9 96.6
D 0.4 1.4 6.9 0.5 0.3 1.4
o/ 2.6 3.8 6.9 3.1 0.8 1.4
Dmy/lg
ICP As
ICP - MS
Cu Zn As Cd Pb 5
ICP

ICP - MS



2,66-69,2002

**

10 VOCs
116 1810p g/ms3 165 2417p g/m3
a -
TVvOC
10
X
DSD-DNPH 24
DSD-TEA 24 ( )
VOC-SD 24 ( )
ORBO91L 100ml/min ( )
x 24
VOCs - ORBO101 .
ORBO91L - 100ml/min ( )
x 24
AirToxics 10ml/min ( )
x 24 (
VOC

SP208-100Dual SP204-500Dual
GASTEC GSP-250FT
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/
IWT-A | 12/3 4 2
IWT-B | 12/3 4 3
IWT-C| 12/4 5 4
IWT-D| 12/4 5 2 - -
IWT-E | 12/5 6 5
IWT-F | 12/6 7 1 - -
IWT-6 | 12/7 8 5 FF
IWT-H | 12/11 12 6 FF
IWT-1| 12/14 15 9 -
IWT-J | 12/14 15 3 FF
SIM
4aml
2ml 2
ds GC/MS HP 5890/5971A
0.1y g/m J WDB-1301 /
2ml 60m 0.25mm 1y m
GC/MS v
20:1
40 (10min)-3 /min-140
-5 /min-240
-20 /min-300 (8.7min)
Total 75.0min
250
( ) 260
2.5ml 121 2-
2.5ml 2.0ml Propanol Acetone Dimethoxymethane
0.5ml Methylacetate
GC/MS Ethanol
70 52 1
121 121 116
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Ethanol F(1 )785p g/m3 J(3 )706p g/m3 G5
580p g/m3 A(2 )518u g/m3 6
5ng/u | SIN 8 (400p
2ng/p | S/IN 3 g/ms3)
100mg/l ORBO101 91L 165 2417y
g/m3 ( 9)
20 (2 )1186p g/m3  B(3
5ng/p | )1071p g/m3 F(1 )909u g/m3 J(3 )778
M g/m3 G(5 )574u g/m3
Ethanol S/N (400u g/m3)
50
a -
Ethanol
Ethanol a - ORBO101 91L
Ethanol A ( 2 ) 545u g/m3 ( 9
362u g/ms3
ORBO91L 6.5y g/ms3
5.5y g/ms3
B ( )
ORBO91L 742p g/m3  ORBO101 91L
6574 g/m3
o ( 9 ) 212 215y g/ms3
260 g/ms3
F 1 a -
ORBO91L 451y g/m3 ORBO91L (Single)
ORBO101 91L 475p g/ms3 ORBO101 ORBO91L (Tandem)
9 VOC-SD(Passive)
ORBO91L 324p g/m3
ORBO101 91L 334p g/m3 Tandem Passive
o Single Tandem Single
Passive ORBO91L
ORBO91L 116 a -
1810u g/ms3 (
9 ) B(3 )1026p g/ms3
G -

Single ORBO91L

Tandem ORBO101 ORBO91L

Passive VOC-SD)

Single-Tandem

00 .
S R®=0.6146
(=2}
= .
£
3
ks
0
0.0 5.0 10.0
Single p g/m3

Single-Passive

16.0 , .

2 R“=05318

S .

o

(]

=

[}

3

o

0.0
0.0 5.0 100
Single p g/m3

Tandem-Passive

16.0

Passive ng/y |

0 200 400
Tandem p g/m3

600
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Single Tandem

a - B -
3-Carene Camphor Menthol Camphene
ORBO91L- ORBO91L
Single a -
Limonene
150p g/ms3
623p g/m3

B ( 3 ) ORBO91L

742y g/m3 ORBO101 91L 657p

g/m3 ( 9)
212 215p g/m3

623u g/m3
2 22
M g/m3 46 39 16pg/m3 2
64.8 186 7.0 4.8 4.4u g/m3 ORBO91L WHO
ORBO101 91L
3

13
14 3
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2,70-75,2002

14

( 21

22

13 14

)

11
1990

13

2000

38 )

14

70

13

2)

14

1990



() )
61,148 | 21,385 96.92
13
33,511 | 9,999 362.50
16,284 | 5020 179.77
15,400 | 4,279 72.34 ,
17,566 | 4,487 298.02
5727 | 1,385 163.57
80
86
21 (135 )
53
1
17 156
5 -1
13
2-3
14 8 15 2
3
1
2
13 1
2-2
250 3 2
15 1
30 50 639
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4 5
87 67 77.0% 20 230% | 34
28 14 50.0% 14 500% | 44
41 21 51.2% 20 488% | 46
156 102 65.4% 54 346% | 38
-3
150 2 150 2
86 80 6 79 7 42 51.9% 39 48.1% 160
27 26 1 26 1 15 60.0% 10 40.0% 146.6
40 39 1 40 0 14 37.8% 23 622% | 2104
153 | 145 | 8 145 8 71 49.7% 72 50.3% 170.7
8 6 2 2
2-4
3
3-1
9
5
8
30
-3
150 2 150 2
150 2 150 2
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1 -2 14
16,000 16,000
14,000 —o—13 o 14,000 |
12,000 ——14 12,000 |
10,000 10,000
8,000 [ 8000
6,000 6000
4,000 [ 4,000
2,000 2000 |
0
123 456 7 8 9101112 T, . I 5 o 10 1 1
-4
9.0 (13 )
29.30235 ( 12 )
105.487 12 (
36.7 | 13
-5 ( )
13 14
46,705 45.1% 47,184 45.7% 479 1.03% 0.46%
7,528 7.3% 7,308 7.1% -220 2.93% 0.21%
49,346 47.6% 48,772 47.2% -574 1.16% 0.55Y%
103,579 103,264 -315 0.30% 0.30%
0.3 13
3-2 13 2
13 14 13 14 1 4
-1 13 11
( ) 14 11
4 (
2
14 -2
)
(
) 7
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-3 -4
250 250
.’ L 2 ¢
200 - 200 | ¢
1S o* * *
'S
150 | ¢ %t ¢ * e 150 | ¢ 8
<
! ® L 4 L
100 > ® . o® 100 | !
&g . .
50 + : > ¢ 50 | § *
0 ‘ 0
0 100 200 300 400 500 0 5 4 6 10
(
0.181 +70.899 15.205 +45.799
0.370 0.602
-6 3-3
/ /
47184 111766 0.4222
7,308 47738 0.1531
48,772 59289 0.8226
14 -5
47 46 -6
7 14 13 -5 14
0.3
0.46 0.21 -6
0.55 -7 -8
-3 4
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(14 ) -6 (14
18000
16000 ——
14000 - 3009 =
N 7000 —.—

12000 6000 |
10000 [ 5000
8000 | 4000
6000 | A 3000
4000 | 2000
2000 | 1000

0 0

1 23 45 6 7 8 9 1011 12 1 23 45 67 89 1011 12
-7 (14 -8 ¢!
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2,76-81,2002
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10

52

Dr. SPSS 11 for Windows

7

PL(X):

R2(X):
A(X):

X1:

X2:
X3:
X4:
X5:

X6:

X7:

Y1:
Y2:
Y3:

X1:

X2:
X3:
X4:
X5:
X6:
X7:

X8:

1)2)3)

12)

12)
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D
s ,73(9),982-983,1999
2)
, ,40(No.SIG6(TOD
3)).132-40,1999
3) Stroup,D.F. ,M.Wharton,K_Kafadar and A.G.Dean: Evaluation
of a Method for Detecting Aberrations in Public Health
Surveillance Data, American J.of
Epidemiology,137,373-381,1993
4
http://ww . pref. iwate. jp/~hpl1353/kansen/
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-2

Hosmer

Lemeshow
log{PL(X)/(1- PL(X)}=~7.27+0.77*X1+1.84*X2 26112 1.000
log{P2(x)/ (1- P2(X))}=-5.01+1 88*X1+4.21*X2-4.25%X3+3.71*X4-4.76*X7 39.137 0671
log{P3(x)/(L- P3(X))}=-4.40+4.46*X2-0.15*X5+0.96*X6 115.066 0712
l0g{PL(X)7(1- PL(X))=-10.10+51. 74*X 167 48*X2-34 48*X3-20.82* X4 78712 0.997
log{P2(x)/(1- P2(x))}=-4.19+19.09*X1 253.605 0.496
log{P3(x)/(1- P3(X))}=-3.96+16.51*X1 260.840 0.121
l0g{PL(x)/(1- PL(X))}=-16.49+17 68*X 1+16.87*X2-7.57*X3 100.834 0.996
log{P2(X)/ (1- P2(X))}=-8.84+7 51*X1-3 42*X4+1.93*X6 278,646 0.701
log{P3(x)/(1- P3(x))}=-7.14+6.08*X1+1.57*X6 334.038 0.881
log{PL(x)/(L- PL(X))}=-31.57+4.60*X1+6.28*X2-2.04*X3 27811 1.000
log{P2(x)/(1- P2(X))}=-7.60+0.89*X1+2.21*X2 106.071 0.995
log{P3(X)/(1- P3(X))}=-5.48+0.50%X1+2.29%X2 160.196 0.548
log{P LX)/ (1- PL(X))=-29.47+12.91*X 1+12.16*X2-7.80%X4 65711 0.996
log{P2(x)/(1- P2(X))}=-12.27+2.62%X1+5.33*X6 202810 0.545
log{P3(x)/(1- P3(X))}=-9.57+L1 56*X1+2.37%X2+3.33*X3+3.07%X6+1.96%X7 237812 0.245
log{PL(x)/(1- PL(X))}=-20.44+18.07*X1 13711 1.000
l0g{P2(X)/ (1- P2(X))}=-13.04+6.36*X1+6.27*X2+3 75*X6 41678 1.000
log{P3(x)/(L- P3(X))}=-10.58+4.81X1+8.09*X2+3.42*X6 75914 0978
log{PL(x)/(1- PL(X))}=-14.71+22 96*X 1+85.88*X2+0.88*X5 35.353 1.000
log{P2(x)/(1- P2(X))}=-5.01+8.74*X1+0.38*X5 142,992 0.731
log{P3(X)/(1- P3(X))}=-4.51+6.01*X 1+12.52*X2+.44*X5 163.606 0479
logigé.%%{r(le’;%‘())(()l)i14.50*X3-7.88*X4+9.91*X5-11.67*X7 121.804 0.991
log{P2(x)/(1- P2(X))|=-8.03+7 87*X1-3 66*X3-3 22*X4 285.769 0.351
log{P3(X)/(1- P3(X))}=-7.86+7 76X 1-4.83%X3-4.52*X4 293.428 0675
log{PL(X)/ (1- PL(X))|=—14.37+168 33*X1-84.62*X3-4 89*X7 26707 1.000
log{P2(x)/(1- P2(X))}=-5.12+18.80*X1 109.092 0.857
log{PL(X)/(1- PL(X))|=-21.05+41.91*X 1+14.57*X5+5.08*X6-27.02*X7 23869 1.000
log{P2(x)/(1- P2(X))}=-5.79+10.62*X1+8.59*X3 102.387 0.837
log{P3(x)/(1- P3(X))}=-5.85+11 87*X1+6.44*X2 114.959 0.702
log{PL(x)/(1- PL(X))=-21.61+10.16*X 1+17.80*X2 17.801 1.000
log{P2(x)/(1- P2(x))}=-6.33+3.77*X1+5.93*X2 68.874 0.992
log{P3(x)/(L- P3(X))}=-5.00+9.62%X2+7.64*X3+9 67*X4 89.180 0.728
log{PL(X)/(1- PL(X))}=-16.28+47.18*X1+98.45*X2 17517 1.000
log{P2(X)/ (1- P2(X))}=-5.21+22.54%X1-11 55*X2+11.12*X3 140.795 0.398
log{P3(x)/(1- P3(X))}=-4.87+21.02*X1 168.427 0.248
log{PL(X)/(1- PL(X))}=-10.19+26.36*X2+2.22%X7 183444 1.000
log{P2(x)/(1- P2(X))}=-10.68+7.89*X1 329953 0.997
log{P3(X)/(1- P3(X))I=-10.11+7.74*X1 43.9503 0.999
log{PL(X)/(1- P1(x))|=-5.84+30.03*X1+66.98*X2-16.02*X4 61432 0.729
log{PL(X)/(1- PL(X))}=-11.44+6.02%X1+7.43*X2 104,578 0.927
log{P2(x)/(1- P2(X))}=-4.63+1 56*X1+1.69*X2 253633 0.766
log{P3(x)/(1- P3(X))}=-4.79+2.14*X1 315718 0.486




R2

Y2=37.07+8.71*X2+17.78*X5 0.684
Y3=1.03+2.35*X2+1.42*X4+3.28*X5 0.957
Y1=-1.71+7.83*X7 0.361
Y2=-1.77+3.01*X7 0.417
Y3=0.10+0.21*X7 0.601
Y1=9.23+11.72*X2 0.108
Y2=11.49+24.65*X2 0.207
Y3=1.70+1.77*X2 0.436
Y3=7.63+2.28*X3+2.61*X5+2.05*X7-5.48*X8 0.852
Y1=4.67+4.18*X2+9.07*X3+8.71*X5 0.652
Y2=-4.24+15.28*X2+24.37*X3+29.49*X5+16.78*X7 0.746
Y3=2.20+1.52*X2+1.68*X7 0.626
Y1=12.56+5.92*X4 0.633
Y2=23.77+48.04*X2 0.935
Y3=2.31+6.09*X2 0.896
Y1=13.39+271.87*X5 0.548
Y2=4.59+270.33*X5 0.586
Y3=0.86+0.30*X7 0.351
Y3=0.39+1.17*X5-0.15*X8 0.810
Y2=-1.00+52.26*X7 0.841
Y3=0.75-14.09*X2+17.69*X4-31.41*X6+3.87*X7 0.982
Y1=11.19+6.74*X2-3.85*X3 0.404
Y2=22.47+17.16*X2 0.326
Y3=0.73+2.75*X7 0.774
Y3=0.20+8.53*X3 0.440
Y1=-33.56+244.90*X3+194.11*X4 0.930
Y2=-86.88+569.91*X3+480.56*X4 0.906
Y3=-0.08+13.19*X3+7.57*X4 0.874
Y1=6.42+2.84*X2 0.532
Y2=5.28+13.86*X2 0.951
Y3=1.70+2.69*X2 0.928
Y1=1.17-4.47*X6+1.72*X7 0.948
Y2=24.04-42.35*X6 0.912
Y3=2.13+3.39*X4-3.97*X6 0.891
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14 4 145 146 14 148 149 1410 14 11 14 12 151
(/100mi) 3.0 11.0
- - - + + + + - - -
( -/- -/- -/- -/- -/- +/- -/- -/- -/- -/-
225 211 20.9 29 314 32.1 19.2 9 17 2.6
115 12.7 19 20.1 21.3 22.2 16.9 115 9 8
(/7100ml) 3 3 3
- - - + + + + - - -
( /- /- /- /- /- /- /- /- /- /-
20.1 19.8 26.6 31 332 33 19.7 8.2 15 29
13.2 12.1 19 17.1 20.2 21.6 11.2 7 5 5
(7100mI) 3 3 3 36 3
- - + + + + + - - -
-/- -/- -/- -/- -/- +/+ -/- -/- -/- -/-
17.3 23 273 322 313 325 183 183 0 45
9 15.9 22 20.1 22.4 21.8 15.1 15.1 11 8
(/10g) 3 3 53.0 3 36
- - - + + + + + + -
-/- /- -/- -/- /- +/+ /- /- /- -/-
(/10g) 3 36 430 16.0 6.2 9.1
- + + + + + + + + -
-/- -/- -/- /- +/- +/- /- -/- -/- -/-
TDH TRH
01 K25 1 1 0 H12 14
01 KU 1 1 0 70 %
03 K6 12 12 0 60
50/
03 K29 1 1 0 40?
04 K8 2 2 0 30 %
20
10/
H12 14 0
_ 33
3 - 11 11 6
30 o 3 8
25 I‘: 54 15 12
20 18
B
1 L
5 10 1|12
10 7
4
14, 3 3, L
D:I L4 L1 LN D:I [ | 14
6 7 8 9 10 11 12 -‘ - e
M12 3456 78 9101112131415161718M
H14) I g No
- 1 O1:K25
W - Juy + '!! - 2 OLKU
@ =213 ~s2is 3 14 OBK6
(6] - - 15  03:K29
2 E2 16 1704K8
(1)& 18  06K18
M Marker




	p63p65
	p66p69
	表３　分析装置及び測定条件の概要
	HP 5890/5971A

	p70p75
	p76p79
	p80p81
	Sheet1

	p82p83
	p84
	表・図




